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报告评分：
说明: 
1. 每一道实验题目都需要按照第2-3页的模板填写实验报告；例如，第一次编程实验有2道题目，需要填写2次；
2. 中英文皆可；
3. 不是每一项都需要填写，根据实验难度选择。但实验分析，实验步骤，实验结果不可少。
Task One
Analysis of the Experimental Task
1. What does the question mean? What’s the input and expected output of the experiment?
2. Can you give theoretical analysis on the question? 
3. What's the expected result for the experiment?
Details of Experiment
1. Configuration of the experiment, e.g. Length of FFT, sampling frequency.
2. Procedure for experiment

a) Step1 :

b) Step2 :

Results of Experiment

1. Datasheet, graphs, tables, and other objective or subjective evaluation 

Please write the title of the graph, table clearly.
Please describe the data and results clearly.
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Figure I
Example Figure

EXAMPLE: This figure shows the pixels for a hand written latter ‘a’. …
Table I
Confusion Matrix

	results
	a
	d

	a
	76
	2

	d
	0
	80


EXAMPLE: This table shows the result of binary classification on letter ‘a’ and ‘b’. The row of Table I shows the results given by the classifier. The column shows the Golden Standard…
2. Analysis of the results:
a) Is the result in accord with the expected result？
b) If so, provide further analysis on the results. For example, provide some statistics, data, and other evidence to testify the effectiveness of your experiment.

c) If not, explain the unexpected the result and give possible reason for it.
EXAMPLE 1：The outcome is consistent with the expected result. Typically, the simple k-means algorithm with pixel vector as input could cluster the training data into two sets. This can be shown by the distribution of distances from the training data to the centroid of the two clusters. As Figure I shows, the training samples of ‘a’ are close to one centroid while those of ‘b’ are close to the other centroid. Thus the two sets of data are separately from each other.
EXAMPLE II: The k-means algorithm based on pixels fail to discriminate training data for letter ‘a’ and ‘b’. One possible explanation is that the pixel vector is variant to the angle, size, and transformation of graph….
